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FOREWORD

The National Examinations Council of Tanzania is pleased to issue the Candidates’
Item Response Analysis (CIRA) in Economics subject for Advanced Certificate of
Secondary Education Examination (ACSEE) 2019. The analysis provides feedback
to educational administrators, students, teachers, parents, policy makers and the
public in general on the performance of the candidates.

The Advanced Certificate of Secondary Education Examination (ACSEE) marks
the end of the two years of Advanced Secondary Education. It is a summative
evaluation which shows, among other things, the effectiveness of the education
system in general and the education delivery system in particular. Essentially, the
candidates’ responses to the examination questions is a strong indicator of what the
education system was or was not able to offer to the candidates in their two years
of Advanced Secondary Education.

The analysis presented in this report intends to contribute towards the
understanding of possible reasons behind the candidates’ performance in each
question. The report highlights some of the factors that made the candidates to
score high marks in the questions. They include the ability to adhere to the demand
of the questions, identify tasks of the questions, express themselves in English
Language and the acquisition on knowledge of the concepts related to the subject.

Furthermore, the analysis highlights the factors that made a few of the candidates
to score low marks in the questions. Such factors include failure to adhere to the
demand of the questions, failure to identify the tasks of the questions and lack of
knowledge on the question related to the subject.

The feedback provided will enable the educational administrators, school
managers, teachers and students to identify proper measures to be taken in order to
improve the candidates’ performance in future examinations administered by the
Council.

Finally, the Council would like to thank the Examinations Officers, Examiners and
those who participated in processing, analysing and preparing this report.

A

Dr Charles E. Msonde
EXECUTIVE SECRETARY
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1.0 INTRODUCTION

This report represents the performance of the candidates who sat for the
Advanced Certificate of Secondary Education Examination in May 2019 in
Economics subject. It shows how the candidates performed on each question
per topic.

The examination tested the candidates’ abilities as per requirements of the
2009 syllabus. The examination comprised of two papers: 151/1 Economics 1
(Economic Theory) and 151/2 Economics 2 (Economic Development). Each
of the examination paper consisted of 8 questions which were distributed into
sections A and B. In each, paper the candidates were required to answer 5
questions by choosing at least 2 questions from each section. Each question
carried 20 marks.

A total of 11,377 candidates sat for the ACSEE 151 Economics paper, out of
which 11,103 (98.25%) candidates passed this examination and 198 (1.75%)
candidates failed. Generally, the candidates’ performance in 2019 has
increased by 1.63% when compared to 2018 performance where a total of
11,126 candidates sat for the examination, 10,682 (96.62%) candidates passed
and 374 (3.38%) candidates failed.

This report provides the analysis of each question by giving an overview of
what the candidates were required to do, the way they responded to the
questions and the reasons for their good or poor performance. The candidates’
performance in each question was considered weak if the candidate scores
range from O to 6.5, average if the scores range from 7 to 11.5 and good if the
scores range from 12 to 20. The overall candidates’ performance in the entire
examination was considered weak if the candidates’ scores range from 0 to
34%, average if the scores range from 35 to 59% and good if the scores range
from 60 to 100%.

Special colours have been used to show the candidates’ performance, whereby
green stands for good, yellow for average and red for weak as seen in the
graphs and in the appendix. Some extracts of the answers showing the
candidates responses have been included in order to provide a general
overview of the way candidates responded in accordance with the demand of
each question.



2.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
QUESTION

2.1 PAPER 1: 151/1 ECONOMIC THEORY

2.1.1 Question 1: Subject Matter of Economics
This question had parts (a) and (b). In part (a), the candidates were
required to explain five limitations of macroeconomic analysis. In part
(b), they were required to give five points on demerits of capitalism.

The question was attempted by (6,557) 57.6 percent of the candidates,
out of which (1,125) 17.2 percent scored from 12 to 19 marks, (3,724)
56.8 percent scored from 7 to 11.5 marks and (1,708) 26.0 percent
scored from O to 6.5 out of the 20 allotted marks. Generally, the
performance of candidates in this question was good, as 74.0 percent

scored 7 marks and above. Figure 1 shows the distribution of the
candidates’ scores.
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Figure 1: Candidates’ Performance in Question 1.

The candidates who performed well in this question were able to meet
the prerequisites of the question. This indicates good mastering of the
subject matter. For example in part (a), a candidate managed to explain
five limitations of macroeconomic analysis as fallacy of composition,
statistical and conceptual difficulties, aggregates are considered to be
homogenous variables, aggregate variables may not be important or
necessary and misleading in the economy. In part (b), the candidate
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managed to give demerits of capitalism by providing five points as
income inequalities, increase of social cost, emergence of classes in
social stratification and exploitation, welfare goods are ignored and
unemployment is common. This shows that the candidate had acquired
enough knowledge and skills in that particular topic. A sample of a
good response is shown in Extract 1.1.
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Extract 1.1 is a sample of a well answered question.

In this Extract the candidate who managed to explain the limitations of
macroeconomic analysis in part (a) and also gave the demerits of capitalism
in part (b).

The candidates with moderate scores failed to explain limitations of
macroeconomic analysis while others explained partially. In part (a)
for example, one of the candidates explained less than the required
correct points. The candidate managed to provide two points out of
five required. In part (b), some of the candidates were able to provide
few points required and other points were immaterial. This indicates
that the candidates were incompetent in the subject matter.

However, few candidates who performed poorly failed to explain five
limitations of macroeconomic analysis. For example in part (a), one
of the candidates incorrectly explained the limitations of
macroeconomics as through the use of chemicals, population pressure
through agriculture and poor use of tools. In part (b), most of the
candidates failed to give the demerits of capitalism. For example, one
of the candidates provided points like: low thinking capacity, low
production, the use of low tools and low ideas exchange. Extract 1.2
shows a sample of a poor response.
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Extract 1.2 is a sample of a poor response.

The Extract shows a candidate who failed to explain limitations of
macroeconomic analysis in part (a). Also he or she failed to explain
demerits of capitalism in part (b).

2.1.2 Question 2: Production
This question had two parts, (a) and (b). In part (a), the candidates
were required to elaborate four factors which limit the law of

diminishing marginal returns to operate. In part (b), they were required
9



to analyse six factors that contribute to low efficiency of labour in
Tanzania.

The question was attempted by (7,341) 64.5 percent of the candidates,
out of which (1,749) 23.8 percent scored from 12 to 19 marks, (4,287)
58.4 percent scored from 7 to 11.5 marks and (1,305) 17.8 percent
scored from 0 to 6.5 out of the 20 allotted marks. Generally, the
performance of candidates in this question was good, as 82.2 percent
scored 7 marks and above. Figure 2 shows the distribution of the
candidates’ scores.

Scores
m0-6.5

o7-11.5
m12-20

58.4%

Figure 2: Candidates’ Performance in Question 2.

The candidates who performed well in this question were able to
identify the task of the question. They demonstrated factors which
limit the operation of the law of diminishing marginal returns in part
(a) and analysed the factors which influence productivity of labour in
the economy in part (b). For example in part (a), a candidate elaborated
factors which limit the law of diminishing marginal returns to operate
as: cannot be applied in the long run period, is not used in advanced
technology, does not consider other factors which may lead into
diminishing returns in production, etc. In part (b), a candidate
managed to analyse factors that contribute to low efficiency of labour
in Tanzania by providing the points like inefficiency of the cooperant
factors of production, low level of wages to labour, poor working
environment for labour, low level of education and experience for most
labourers in Tanzania and long working hours, as shown in the
Extract 2.1.
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In the Extract a candidate who was able to elaborate factors which
limit the law of diminishing marginal returns to operate in part (a).
The candidate was also able to analyse factors that contribute to low

S Bmaadarte ‘He e[QLq‘rw in e :EﬁQu“QVLL‘{ o)

% LlLLu.U .

Extract 2.1 is a sample of a good response.

efficiency of labour in Tanzania in part (b).

The candidates who scored averagely failed to elaborate factors
which limit the law of diminishing marginal returns to operate
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despite the fact that others explained partially. In part (a) for
example, one of the candidates managed to provide three points out
of four essentials required. In part (b), some of the candidates were
able to analyse three points but failed to support them in detail.

Additionally, the candidates who performed poorly in this question
failed to respond to both parts (a) and (b). In part (a) for example, one
of the candidates failed to elaborate factors which limit the law of
diminishing marginal returns to operate by giving points, such as
income of the consumer, substitute goods, change in the number of
the consumer and climate change. In part (b), few candidates failed to
analyse factors that contribute to low efficiency of labour in Tanzania.
For example, one of the candidates provided wrong response, such as
shortage of enough capitals, shortage of reliable market, lack of
enough funds, low level of science and technology, price fluctuation
of crops and increase in level of tax. Extract 2.2 shows a sample of a
poor response.
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Extract 2.2 is a sample of a poor response.

The Extract shows a candidate who failed to elaborate factors which
limit the law of diminishing marginal returns to operate in part (a).
He or she also failed to analyse factors that contribute to low
efficiency of labour in Tanzania in part (b).

2.1.3 Question 3: Theory of the firm
This question had parts (a) and (b). In part (a), candidates were given
the cost and demand functions and were required to determine the
following: (i) profit maximizing output and total revenue maximizing
output, (if) maximum profit, (iii) maximum revenue and (iv) total
cost. In part (b), the candidates were required to describe six roles of
profit in the economy.

The question was attempted by (7,769) 68.3 percent of the candidates
out of which (737) 9.5 percent scored from 12 to 19.5 marks, (4,244)
54.6 percent scored from 7 to 11.5 marks and (2,788) 35.9 percent
scored from 0 to 6.5 out of the 20 allotted marks. The candidates’
performance in this question was generally good (64.1%). Figure 3
shows the distribution of the candidates’ scores.
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Figure 3: Candidates’ Performance in Question 3.

The candidates who performed well in this question were familiar
with mathematical skills applied in economics. For example in part
(a), a candidate managed to determine the required variables, such as:
(i) profit maximizing output and total revenue maximizing output, (ii)
maximum profit earned to a firm, (iii) maximum revenue earned to a
firm and (iv) total cost (TC) incurred by a firm at maximum profit in
the economy. In part (b), the majority of the candidates managed to
describe the roles played by profit in the economy. For example, one
of the candidates provided responses, such as: increase in efficiency,
expansion of the business, bearing of the business risk, to stimulate
investment, to increase production and to carry out research, as
shown in the Extract 3.1.
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Extract 3.1 is a sample of a well answered question.

In this Extract a candidate who was able to determine: (i) profit

maximizing output and total revenue maximizing output,

(i)

maximum profit earned to a firm, (iv) total cost (TC) incurred by a
firm at maximum profit and (iii) maximum revenue earned to a
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firm. In part (b), the candidate managed to describe roles played by
profit in the economy.

However, the candidates who scored moderately gave incorrect
answers due to inadequate mathematical skills and application of
wrong formula in calculation. The candidates scored less marks in
both parts (a) and (b) because they provided sufficient but
unsupported points as required by the question. This is due to failure
to understand the demand of the question.

Moreover, the candidates who performed poorly in this question
failed to apply mathematical skills and the required formula in
determining the required variables. In part (a) candidates failed to
compute for (i) profit maximizing output and total revenue
maximizing output in (ii), maximum profit earned to a firm in (iii),
maximum revenue earned to a firm in (iv) and total cost (TC)
incurred by a firm at maximum profit. In part (b), some of the
candidates failed to describe six roles played by profit in the economy
and provided points, such as to expand the size of the market, to buy
factors of production, to balance the demand and supply of goods in
the economy, to be used in competition and improve standard of
living. Extract 3.2 shows a sample of a poor response.
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Extract 3.2 is a sample of a poor response.

The Extract shows a candidate who failed to apply the formula of
computing profit maximizing output and total revenue maximizing
output, maximum profit earned to a firm, maximum revenue earned to
a firm and total cost (TC) incurred by a firm at maximum profit in
part (a). He or she also failed to describe six roles played by profit in
the economy in part (b).

2.1.4 Question 4: Population
This question had parts (a) and (b). In part (a), candidates were
required to provide the meaning of (i) Population size and (ii) Over
population. In part (b), the candidates were required to justify the
statement that “High rate of population growth in Tanzania has
contributed to the deterioration of the standard of living” by giving
eight points.

The question was attempted by (10,458) 91.9 percent of the
candidates, out of which (6,226) 59.5 percent scored from 12 to 20
marks, (3,710) 35.5 percent scored from 7 to 11.5 marks and (522)
5.0 percent scored from 0 to 6.5 out of the 20 allotted marks.
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Generally, the performance of candidates in this question was good,
as 95.0 percent scored 7 marks and above. Figure 4 shows the
distribution of the candidates’ scores in question 4.
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Figure 4: Candidates’ Performance in Question 4.

Most of the candidates who performed well in this question had
sufficient knowledge of the subject matter. In part (a) (i) for example,
one of the candidates was able to give the meaning of population size
as: The number of people or population in a certain geographical
area over a specific period of time and in (ii) Overpopulation as: The
type of population in relation to resources, Overpopulation occurs
when population is greater than the available resources. Furthermore,
in part (b) the candidate was able to justify the statement that “High
rate of population growth in Tanzania has contributed to the
deterioration of the standard of living” by giving points such as:
unemployment, inflation, emergence of social crimes, increase in the
number of Dependency Ratio, environmental pollution, poor
provision of social services, spread of diseases and over exploitation.
Extract 4.1 shows a sample of a candidate who responded well in this
question.
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Extract 4.1 is a sample of a good response.

In this Extract a candidate who was able to give the meaning of (i)
Population size and (ii) Overpopulation in part (a). He or she also
managed to justify the statement that ‘high rate of population growth
in Tanzania has contributed to the deterioration of the standard of
living in part (b).

Furthermore, some of the candidates who scored average marks, in
part (a) managed to explain the concept of Population size in (i) and
Overpopulation in (ii) even though were unable to justify that “high
rate of population growth in Tanzania has contributed to the
deterioration of the standard of living” in part (b). This indicates that
the candidates were less equipped with the relevant knowledge on the
particular topic.

On the other hand, candidates with poor performance in this question
failed to recognize the task of the question. In part (a) for example,
one of the candidates provided the meaning of (i) Population size as:
The increase number of people living in the geographical area at
given period of time, and in (ii) Over population as: The situation
whereby the number of people in the country is in excess than natural
resources. In part (b), poorly performed candidates were unable to
give correct justification on how the higher rate of population growth
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in Tanzania has contributed to the deterioration of the standard of
living. For example, one of the candidates provided incorrect points
such as: availability of food, improvement of transport and
communication, improvement of science and technology,
improvement of raw materials, improvement of health services,
provision of education and creation of employment opportunities.
Extract 4.2 shows a sample of this response.
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Extract 4.2 is a sample of a poor response.

The Extract above shows a response of a candidate who provided
incorrect meaning of the terms (i) Population size and (ii) Over
population in part (a). In part (b), the candidate failed to justify the
statement that “High rate of population growth in Tanzania has
contributed to the deterioration of the standard of living”.

Question 5: Theory of money

The question had parts (a) and (b) whereby in part (a) a table was
given, candidates were required to determine (i) the weighted index
of prices, (ii) the percentage change of weighted index and (iii) the
change in value of money. In part (b), the candidates were required to
describe the economic concepts: (i) inconvertible notes, (ii) narrow
money supply, (iii) legal tender, (iv) Precautionary demand for
money balances and (v) paper managed system.

The question was attempted by (905) 8.0 percent of the candidates,

out of which (860) 95.0 percent scored from 0 to 6.5 marks, (33) 3.7
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percent scored from 7 to 11.5 marks and (12) 1.3 percent scored from
12 to 17.5 out of the 20 allotted marks. Generally, the performance of
candidates in this question was poor as 95.0 percent of the candidates
scored from 0 to 6.5 marks. Figure 5 summarizes the candidates’
scores in this question.

100 - 95.0
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60 -
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20 -
10 - 3.7 13

0 -

Percentage of Candidates

WEAK AVERAGE GOOD

Scores

Figure 5: Candidates' Performance in Question 5.

Most of the candidates who attempted this question failed to
understand and apply relevant mathematical skills in calculation and
interpretation of the theory of money. Consequently, they failed to
determine: (i) the weighted index of prices, (ii) the percentage change
of weighted index and (iii) the change in value of money. In part (a)
most of them employed Laspeyres Price Index, i.e

Z P, xQ, . .
LP.lI==—"——x100% and Paasches Price Index, i.e
z R, xQ,

P
P.P.I= %AOO% which were not required by the question.
0 X n

In part (b), most of the candidates both misconceived some concepts
in the theory of money and misunderstood the demand of the
question. For example, one of the candidates described wrongly the
economic concepts of (i) Inconvertible notes as: Kind of money by
using notes which does not converted to be as a good or raw material
for exchange like is very important nature to produce it, (ii) Narrow
money supply means supply of money as appeared at a certain period
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of time as it limited in nature that does not perform a certain kind of
work, (iii) Legal tender is the policy making by the Government in
order to make high supply of money from banks, as certain banks, as
central banks, government expenditure, (iv) Precautionary demand
for money balances means the precautionary ways taken by
individuals or at national level in order for use at future generation
and (v) Paper managed system as the system of exchange of money
where by the central bank have to produce paper money or notes in
order to be used for purpose of exchange. Extract 5.1 is a sample of a
poor response.
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Extract 5:1 is a sample of a poor response.

The Extract shows a candidate who was unable to determine (i) the
weighted index prices for the year 1 and 2, (ii) the percentage change
in the weighted index over the period and (iii) the change in the value
of money on goods over the period in part (a). In part (b), a candidate
failed to describe economic terms of (i) Inconvertible notes, (ii)
Narrow money supply, (iii) Legal tender, (iv) Precautionary demand
for money balances and (v) Paper managed system.

However, some of the candidates who scored average marks provided
wrong answer due to inadequate arithmetic skills and application of
wrong formula in calculation. These candidates failed to fetch
information from the table to determine in part (a) of (i) the weighted
index of prices for the year 1 and 2, (ii) the percentage change in the
weighted index over the period and (iii) the change in the value of
money on goods over the period. In part (b), most of the candidates
managed to describe few economic concepts of: (ii) Narrow money
supply, (iii) Legal tender and (iv) Precautionary demand for money
balances.

The majority of the candidates avoided the question. Few candidates
who attempted it, answered few parts of the question. In part (a), the
candidates who performed well in this question were able to
determine: (i) the weighted index of price, (ii) the percentage change
of weighted index over the period and (iii), the change in value of
money in goods over the period, but missed some scores for not
following systematic procedures. In part (b), the candidates were
unable to describe economic concepts of: (i) Inconvertible notes and
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(v) paper managed system. Extract 5.2 shows a sample of a good
response from a candidate.
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Extract 5.2 is a sample of a well answered question.

In this Extract a candidate who was able to determine: (i) the
weighted index of prices for the year 1 and 2, (ii) the percentage
change in the weighted index over the period and (iii) the change in
the value of money on goods over the period in part (a) the candidate
also managed to describe few economic concepts of part (b) (ii)
Narrow money supply and (iii) Precautionary demand for money
balances.

2.1.6 Question 6: Theory of Demand and Supply

The question had parts (a) and (b). In part (a), the table was given, and
the candidates were required to use the information to: (i) draw the
graph, (ii) to explain what does the graph show, (iii) to explain the
economic interpretation of the graph by giving examples and (iv) to
calculate the elasticity of demand. In part (b), the candidates were
required to provide six reasons to prove for the shape of the normal
demand curve.
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The question was attempted by (10,011) 88.0 percent of the candidates,
out of which (2,361) 23.6 percent scored from 12 to 19.5 marks, (4,194)
41.9 percent scored from 7 to 11.5 marks and (3,456) 34.5 percent
scored from O to 6.5 out of the 20 allotted marks. Generally, the
performance of candidates in this question was good, as 65.5 percent
scored 7 marks and above. Figure 6 shows the distribution of the
candidates’ scores.

Scores

m0-6.5
o7-11.5
m12-20

Figure 6: Candidates' Performance in Question 6.

The candidates who performed well in this question were familiar with
the mathematical skills applied in the theory of the Firm. In part (a) (i),
a candidate managed to draw the graph, in (ii) explained what the
graph shows, in (iii) the candidate managed to explain economic
interpretation of the graph and in (iv) managed to employ relevant
formula to calculate price elasticity of demand. In part (b), the
candidate was able to interpret and provide reasons for the shape of
normal demand curve as: price effect, the marginal diminishing utility,
income effect, presence of substitution and a multiple use of a
commodity. Extract 6.1 is a sample of a good response.
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In this Extract a candidate who was able in part (a) to: (i) draw the
graph to represent the information given in the table (ii) to briefly
explain what does the graph drawn in show, (iii) to explain the
economic interpretation of the graph by giving examples and (iv) to
calculate the elasticity of demand. In part (b), a candidate managed to
provide reasons to prove for the shape of the normal demand curve.

However, few candidates with average marks provided incorrect
response, due to inadequate arithmetic skills and application of wrong

Extract 6:1 is a sample of a good response.
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formula. In part (a), they only managed to fetch information from the
table and draw the graph in (i), but in (ii) they failed to explain the
meaning of the graph drawn and also were unable to give economic
interpretation of the graph by giving examples. In (iii), most of the
candidates failed to calculate the elasticity of demand. In part (b),
most of the candidates managed to provide few, insufficient and less
supported points as required by the question.

On the other hand, the candidates with poor performance, failed to
explore information from the table to meet the requirements of the
question which shows poor mastering of the subject matter in that
particular topic. In part (a) for example, one of the candidates failed to
(i) draw the graph to represent the information given in the table, (ii)
interpret and briefly explain the graph drawn in (a) (i), (iii) explain
the economic interpretation of the graph by giving examples and (iv)
to calculate the elasticity of demand when price increases from 15 to
20 Tanzanian shillings. In part (b), instead of providing reasons for the
shape of the normal demand curve, the candidates provided reasons for
the shape of the abnormal demand curve. Extract 6.2 is a sample of a
poor response.
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Extract 6.2 is a response of a candidate who failed to: (i) draw the
graph to represent the information given in the table, (ii) briefly
explain what does the graph drawn in (i) show, (iii) explain the
economic interpretation of the graph by giving examples and (iv) to
calculate the elasticity of demand in part (a). The candidate failed to
provide reasons to prove for the shape of the normal demand curve in
part (b).

2.1.7 Question 7:Market
The question had parts (a) and (b). In part (a), the candidates were
required to explain four criteria used to classify the market structure in
an economy. In part (b), the candidates were required to explain why
the monopoly is not economically efficient with the clear labelled
diagram.

The question was attempted by (3,193) 28.1 percent of the candidates,

out of which (128) 4.0 percent scored from 12 to 18 marks, (1,178)
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36.9 percent scored from 7 to 11.5 marks and (1,887) 59.1 percent
scored from 0 to 6.5 out of the 20 allotted marks. Generally, the
performance of candidates in this question was average (40.9%).
Figure 7 shows the distribution of the candidates’ scores.
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Figure 7: Candidates' Performance in Question 7.

Very few candidates performed well in part (a) of the question. For
example, one of the candidates was able to explain criteria used to
classify market structures in an economy as degree of competition,
number of buyers and sellers, entry and exit limitations and price
determination. However, in part (b) the candidate explained partially
why the monopoly is not economically efficient. Another candidate
provided a diagram which is not clearly labelled. Extract 7.1 is a
sample of a good response in part (a).
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Extract 7.1 is a sample of a well answered question.

The Extract shows a candidate who managed to give criteria used to

classify the market structures in an economy in part (a).

The candidates who scored average marks misunderstood the demand
of the question in part (a), hence managed to explain less than four
criteria used to classify the market structures in an economy. In part
(b), the candidates failed to provide correct well labelled diagrams that
explain why the monopoly is not economically efficient. This indicates

that the candidates were less equipped with the particular topic.
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On the other hand, the candidates who performed poorly were unable
to explain the four criteria used to classify the market structures in an
economy. They also failed to use a well labelled diagram to explain
why a monopoly is not economically efficient. For example in part
(@), one of the candidates instead of explaining the criteria used to
classify the market structure in an economy, he or she named the four
market structures as Perfect competitive market, Imperfect
competitive market, Monopolistic market and Monopoly market.
Similarly, in part (b) some of the candidates failed to explain why
monopoly is not economically efficient by using a diagram. They
instead explained it as lack of information, production of single
commodity, lack of consumer choice and government support. This
shows the candidates had poor knowledge on that particular topic.
Extract 7.2 shows a sample of a poor response from a candidate.
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Extract 7.2 is a sample of a poor response.

In this Extract a candidate who failed to explain criteria used to
classify the market structure in an economy in part (a). A candidate
also in part (b) failed to provide a clear well labelled diagram to
explain why the monopoly is not economically efficient.

Question 8: Employment and Unemployment

The question had parts (a) and (b). In part (a), the candidates were

required to analyse three types of unemployment which normally exist

even if the economy reaches full employment. In part (b), they were
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required to discuss seven major indicators which signify economic
crisis.

The question was attempted by(10,441) 91.8 percent of the candidates,
out of which (2,246) 21.5 percent scored from 12 to 18 marks,(6,069)
58.2 percent scored from 7 to 11.5 marks and (2,124) 20.3 percent
scored from 0 to 6.5 out of the 20 allotted marks. Generally, the
performance of candidates in this question was good, as 79.7 percent
scored 7 marks and above. Figure 8 shows the distribution of the
candidates’ scores.
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Figure 8: Candidates’ Performance in Question 8.

The candidates who scored high marks were able to meet the demand
of the question. In part (a) for example, a candidate managed to
analyse three types of unemployment as: Frictional unemployment,
Structural unemployment and Casual unemployment. In part (b), the
candidate was able to discuss seven major indicators which signify
economic crisis as: decline of purchasing power of the people, fall in
wages, mass unemployment, decline in production, decline of
investment of the country, failure of financial institutions, and decline
of prices for agricultural produce, just to mention four of them. This
indicates that the candidate had enough knowledge on the topic
concerned. A sample of a good response is shown in Extract 8.1.
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Extract 8.1 is a sample of a good response.

The Extract shows a candidate who was able to analyse three types of
unemployment which normally exist even if the economy reaches full
employment in part (a). He or she was also able to discuss major
indicators which signify economic crisis in part (b).

The candidates who scored moderately in this question were able to
explain the required points insufficiently. This is due to their
insufficient knowledge on economic growth and development. For
example in part (a), some of the candidates analysed types of
unemployment with no supported details, while in part (b), some of
them discussed less than seven required indicators which signify
economic crisis. This led them to score less marks.

On the other hand, the candidates who had poor performance failed to
analyse the three types of unemployment which normally exist even
if the economy reaches full employment in part (a). For example, one
of the candidates provided irrelevant types of unemployment, such as:
unemployment to some people who are in education at the full time,
unemployment due to the luckily people and unemployment to the
home workers which were wrong. In part (b), the candidate provided
wrong indicators which signify economic crisis such as: Capital,
Industries, Market, Labour, Technology Transport and
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Communication. Extract 8.2 represents a sample of poor response
from one of the candidates.
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Extract 8.2 is a sample of a poor response.

In this Extract a candidate who analysed wrong types of unemployment
which normally exist even if the economy reaches full employment in
part (a). He or she was also unable to discuss major indicators which
signify economic crisis in part (b).

PAPER 2: 151/2 ECONOMIC DEVELOPMENT

Question 1: National Income

This question had parts (a) and (b). In Part (a) (i), the candidates were
required to calculate Marginal Propensity to Consume and in (ii)
investment multiplier from the given saving function and interpret its
results. In part (b), candidates were required to explain the importance
of national income statistics in the economy by providing seven points.

The question was attempted by (3,074) 27.0 percent of the candidates,
out of which (1,111) 36.1 percent scored from 12 to 19 marks, (1,376)
44.8 percent scored from 7 to 11.5 marks and (587) 19.1 percent
scored from 0 to 6.5 out of the 20 allotted marks. Generally, the
performance of candidates in this question was good, as 80.9 percent
scored 7 marks and above. Figure 9 shows the distribution of the
candidates’ scores.
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Figure 9: Candidates’ Performance in Question 1.

Most of the candidates performed well in this question which implies
that they had acquired sufficient knowledge on the subject matter. In
part (a) (i), the candidates were able to calculate marginal propensity to
consume, investment multiplier and comment on its results. In part (b),
a candidate managed to explain the importance of national income
statistics to an economy as it helps in: determination of the level of
income, determination of the rate of performance of each sector to the
economy, determination of income and resources distribution,
planning purposes and determination of the level of welfare of the
citizen, etc. Extract 9.1 shows the candidate’s good response.
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Extract 9.1 is a sample of a well answered question.

The Extract shows that a candidate was able to calculate Marginal
Propensity to Consume (MPC) in (a) (i) and Investment Multiplier and
interpret its significance in the economy in (ii). Also the candidate
managed to explain the importance of the national income statistics to
an economy in part (b).

Moreover, candidates who had average performance had inadequate
arithmetic skills and hence applied a wrong formula in calculation. In
part (a) (i) one of the candidates managed to apply and compute the
marginal propensity to consume (MPC) but failed to calculate
investment multiplier and interpret its results in (ii). In part (b), the
candidates were able to explain few points on the importance of
national income statistics to an economy. For example, one of the
candidates provided only three out of the seven points required. The
points were such as: enable comparison of standard of living, essential
for the formulation of economic policies and comparing national
income estimates over a period of time. Other candidates failed to give
detailed explanation to each point. For example, one of the candidates
wrote that; it help determinants of the level of taxes and improve in
infrastructure which were wrong.

Furthermore, very few candidates who scored poorly were unable to
apply proper formula in part (a) to calculate marginal propensity to
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consume in (i) and investment multiplier and its significance in the
economy in (ii). This shows that the candidates lacked mathematical
skills and knowledge on a particular topic. In part (b), the candidates
failed to explain the importance of national income statistics to an
economy as they stated that: it is account for the economy, promote
economic development, improve the provision of social services,
promote the development of infrastructure, improvement of
government revenue and development of economic research which
were wrong A sample of a poor response is shown in Extract 9.2.
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Extract 9.2 is a sample of a poor response.

In this Extract a candidate who provided wrong calculations in part
(i) Marginal propensity to consume (MPC) and (ii)
Investment multiplier and interpret its significance in the economy. In
part (b), a candidate failed to explain the importance of the national
income statistics to an economy.
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2.2.2 Question 2: Public Finance
The question had parts (a) and (b). In part (a), the candidates were
required to describe five objectives of public expenditures. In part (b),
they were required to explain briefly five canons of a good taxation
system in the economy.

The question was attempted by (10,725) 94.3 percent of the
candidates, out of which (5,556) 51.8 percent scored from 12 to 20
marks, (4,258) 39.7 percent scored from 7 to 11.5 marks and (911)
8.5 percent scored from 0 to 6.5 out of the 20 allotted marks.
Generally, the performance of the candidates in this question was
good as 91.5 percent scored 7 marks and above. Figure 10 shows the
distribution of the candidates’ scores.

Scores

. m065
0 I|
BT [ g7

m12-20

Figure 10: Candidates’ Performance in Question 2.

The candidates who performed well in this question understood the
requirements of the question. For example, in part (a) one of the
candidates described five objectives of public expenditures required
by the question, such as: provision of goods and services, regulating
economic activities, allocation of resources, economic stabilization
and correcting Balance of Payments. In part (b), the candidate was
able to explain five canons of a good taxation system in the economy
as: Equity, Economy, Certainty, Productivity and Flexibility. This
indicates that the candidate had enough knowledge on the subject
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matter in that particular topic. Extract 10.1 shows a sample of a good

response.
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Extract 10.1 is a sample of a good response.

The Extract shows a candidate who described objectives of the
government expenditure in part (a) and was also able to briefly
explain cannons of a good Taxation system in the economy in part
(b).
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The candidates who performed moderately provided insufficient
explanations on both parts (a) and (b) of the question. In part (a),
some of them were able to describe objectives of government
expenditure by providing three points out of the five required, such
as: stabilization of the economy, redistribution of income and
influence allocation of resources. This indicates that the candidates
had insufficient knowledge on the particular topic. Others provided
the points without explanations due to inability to express ideas in
English language. In part (b), the candidates provided few points
which were less than the demand of the question. For example, one of
the candidates explained only three cannons of a good taxation system
in the economy out of five required points.

The candidates who performed poorly in this question provided
incorrect responses on objectives of government expenditures. In part
(@) for example, one of the candidates described incorrectly the
objectives of government expenditure as: to ensure the welfare of the
people, implementation of economic planning and paying debts. In
part (b), the candidate explained incorrectly the cannons of a good
taxation system as: economic development encourage working,
reduce income inequality, increase government expenditure and
increase in government revenue. This indicates that they had
insufficient knowledge on the concepts of taxation. A sample of a
poor response is shown in Extract 10.2.
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Extract 10.2 is a sample of a poor response.

In this Extract one of the candidates who provided wrong description
of objectives of the government expenditures in part (a). In part (b), he
or she failed to briefly explain cannons of a good taxation system in the
economy.

Question 3: Financial Institutions

The question had parts (a) and (b). In part (a), the candidates were
required to evaluate five factors which limit the process of credit
creation of commercial banks. In part (b), the candidates were required
to examine five functions of the Bank of Tanzania which promotes
economic growth of the country.

The question was attempted by (10,252) 90.1 percent of the
candidates, out of which (3,673) 35.8 percent scored from 12 to 19
marks, (3,932) 44.0 percent scored from 7 to 11.5 marks and (2,072)
20.2 percent scored from 0 to 6.5 out of the 20 allotted marks.
Generally, the performance of candidates in this question was good as
79.8 percent of the candidates scored 7 marks and above. Figure 11
illustrates the distribution of the candidates’ scores in question 11.
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Figure 11: Candidates’ Performance in Question 3.

The candidates who performed well in this question were able to meet
the requirements of the question. This indicates good mastery of the
subject matter in the particular topic. For example, one of the
candidates managed to evaluate five factors which limit the process of
credit creation of commercial banks in Tanzania in part (a), such as:
lack of collateral securities, high interest rates, interference of the
Central Bank, poor saving habits and economic depression. In part (b),
the candidate managed to examine five functions of the Bank of
Tanzania which promote economic growth of the country, such as:
currency issuing, implementation of monetary policy, Bank of the
Government, Banker of commercial banks and a lender of the last
resort. A sample of a good response is shown in Extract 11.1.
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Extract 11.1 is a sample of good response.

The Extract shows a candidate who managed to evaluate five factors
which limit the process of credit creation of the commercial banks in
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Tanzania in part (@) and examined five functions of the Bank of
Tanzania which promote economic growth of the country.

The candidates who performed moderately provided insufficient
explanations on both parts of the question. They evaluated and
examined less than five points or provided other incorrect points on
both parts of the question. In part (a), some of the candidates were
able to evaluate factors which limit the process of credit creation of
the commercial Banks in Tanzania by providing three out of five
required points. Other candidates provided points without the required
explanations. In part (b), the candidates examined functions of the
bank of Tanzania by giving fewer points than required. For example,
one of the candidates examined only two points out of five required
points, such as: Banker to the commercial banks and Banker to the
government. This is due to inadequate knowledge on this particular
topic.

Moreover, very few candidates with low marks failed to evaluate the
limitations of the process of credit creation of commercial banks in
Tanzania. This shows lack of sufficient knowledge on the concept of
credit creation. For example, one of the candidates gave incorrect
answer in part (a), such as: low level of science and technology, lack
of skilled and unskilled labour, financial constraints, political and
social instability and poor government support. In part (b), the
candidate failed to examine five functions of the Bank of Tanzania
which promote economic growth of the country. For example, one of
the candidates gave an incorrect response on the functions of the
Bank of Tanzania which promote the economic growth of a country,
such as: provision of loans to people who are in need. Extract 11.2 is
a sample of a poor response.

80



07 E-"»'-) ‘TL" }.lﬂffﬁwimj 4t Tle ;ﬁ:..cfdr.f “las

I N
iéi‘n-pﬁ" Tle fmwlz &) Clreck't  lrpetrom o Tlhe Loner

el _beat  in Tigmicmia -

; Low loyer op Leiguce dedl ;‘eaéln.;’?aj/a.

if"i TG 96 nid Hlorr iy upn  aelisercocd  fece e’o</\ et

(o b0 tpod 67 e Ao e c\? Crogls f  Creafon

oy Tue  lomnecciar bante .

Lacg g Jhiltecd gocl wasbilted [eloves.

da Dl (punhg  nees @ Tl people havs nn edhice.

how oo Flak (omcern  erif  Crecled  crocho - gl e

:é:mt—»(/u'mf beo ke Jo Aur i/t-.d,;r binaim s pECE R

%%J lrpolt lrec fs .

Fsaciers Lonbra af Ntwe /v a5 erou

éft. MDM.P? =) fuf":?ofi o (voningrc'ed bSeab o Mo

;M/ﬁww;; 29 Cealid  frog hou . Hence iﬁ’.’nnu.w’ Oonyhis;

;nd‘ Yz ;{c..l/n-— Plet biri? 1o f’vag.a./ ;.[;/1 Lreol't freq

|
W‘fﬁwh f fonamprtile s Lot

%ﬂr'-ﬁ’cc_f 2l SO ok fo".'ch'é"/’f.f},‘ Whae

|< fau—qﬁ? Juﬁf’x&ﬂ U/'/vm,.,. wary  PBerp s bnF e

%ﬁjgmuu 2 Creclid  f(rechon g 1o (onareerciot bauy

| fou—,— j‘OUl—(nM-Q‘-'—"‘ Juf;ﬂ,/ﬂ ord Limce

e J‘Du«&rnh—-ﬂu\ﬁ'— fo gt Ju(?%gm oo  Cormpqere et

_Eﬁa—vk fo g gt Q lreglit  Crecfrom Ny  wnle
5{ 4 M et b2 Hoee .

81




2.2.4

—

03 _|5) Lbe }AD/[ow:‘Vrj ave  Fle /‘.Ipmm.»- gy Flee

beng 0] Tiemzenis INIPNZN f?p—on,-a‘f\i Clgmpnae jm‘_‘.m

o) N2 founbe ?
I 7

| Provivion g lotny Fo people PR

Lot _dn need . Baet hove pepuiole Cepoggh Sigps ¥

Fo Tie Gihlew Jince it pescicle  ancney deop goew g

bach Blep el g to  The el ok asccle.
ceb. iag %

Powvivicn o7 Fy.,,ffo'?mp,«m’ L naeg? el

flo banks fn  Femzenia  hawve ncploge people Juet oo

Jecoohy GliD i trnt  Gumel  OTtw efter /fmh' L e L

v adleelie

Prowisiem oy Sty o The rmgone

0] poople  lu g /nunfv},- Herrtes Keg p n—@ne;, ;‘.-w
T ==f

peogle ool alives Tlens fo fasee Tl2re (iley M}«M
2

fn_neecl .

- .
Snippese Fo  invedtrnienst  Jrece tfhen

Tle ltop PTle nasmeo o prople Frew, Lo wie Thens in
4 77 v 7 7

Pruer olifes-eend Sl JSo  Ftes ‘fl-.e}_ £outol e edro r;;?m:vi,‘;
7T

Ppu st et Tose rg -14-/ 109 Ofeer Aot 7 Lt

2y 8§17l el beterh @
7

Browigis « P Joiied tervieos Jles

tre _neoop b Han t;t’&ﬁ[;ofe Jue s ay }frnz:’.r‘hﬂ SOrerce

e o YR N nt ol A DA et be o Jl-..p Coam  Lmdrrpiy
v

A o bewife.

Extract 11.2 is a sample of a poor response.

In this Extract a candidate who failed to evaluate factors which limit
the process of credit creation of the commercial banks in Tanzania in
part (a). In part (b), the candidate failed also to examine functions of
the Bank of Tanzania which promote economic growth of the
country.

Question 4: International Trade

The question had parts (a), (b) and (c). In part (a) (i), the candidates
were required to provide the meaning of exchange control, and in (ii)
foreign exchange reserve. In part (b), they were required to explain
briefly four main significance of foreign exchange reserve. In part (c),
they were required to elaborate five objectives of foreign exchange
control system.

82



The question was attempted by (274) 2.4 percent of the candidates,
out of which (189) 72.3 percent scored from 0 to 6.5 marks, (70) 22.6
percent scored from 7 to 11.5 marks and (15) 5.1 percent scored from
12 to 15 out of the 20 allotted marks. Generally, the performance of
the candidates in this question was poor, as 72.3 percent of the
candidates scored from 0 to 6.5 marks. Figure 12 shows the
distribution of the candidates’ scores in question 4.
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Figure 12: Candidates' Performance in Question 4.

Most of the candidates performed poorly in this question. They were
unable to provide the meaning of the terms exchange control and
foreign exchange reserve in part (a) (i) and (ii), respectively. This
indicates that they had insufficient knowledge associated with the
concepts of foreign exchange. In part (b), some of the candidates failed
to explain the main significance of foreign exchange reserve. For
example, one of the candidates explained the significance of foreign
exchange reserve as: ensure equal value of money, employment
creation, promote international relationship, and increase liquidity
which was wrong. In part (c), some of the candidates provided
objectives of foreign exchange control system as: promote
international relationship, facilitate buying and selling, create
employment, saving value of money and promote continuous
circulation of foreign currency, which were wrong. This indicates that
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the candidates had insufficient knowledge on the foreign exchange
control system. A sample of a poor response is shown in Extract 12.1.
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Extract 12.1 is a sample of a poor response.

The extract shows that a candidate who was unable to provide the
meaning of: (i) Exchange control, and (ii) Foreign exchange reserve in
part (a). In part (b), the candidate failed to explain briefly the main
significance of foreign exchange reserves. In part (c) the candidate
failed to elaborate objectives of the foreign exchange control system.

The majority of the candidates escaped this question and only few of
them attempted it partially. They gave just the meaning of either
exchange control in (a) (i) or foreign exchange reserve in part (a) (ii).
Some of the candidates provided less than the required points while
others provided the points without the explanations as required by the
question in part (b) and (c).

Those who performed well in this question had acquired sufficient
knowledge on the subject matter in a particular topic. In part (a) (i) for
example, a candidate was able to provide the meaning of exchange
control as: The policy introduced by the government through the
central Bank aiming at controlling the exchange in currency in terms
of other countries’ currencies example Tanzanian shillings with
American Dollars, and in (ii) foreign exchange reserves as The
amount of money that are accumulated only to facilitate the exchange
with other countries for example with China and Japan. Furthermore,
the candidate managed to explain briefly the main significance of
foreign exchange reserves. For example in part (b), the candidate
explained the main significance of the foreign exchange reserve as: it
facilitates transactions with foreigners, correction of Balance of
Payments deficit and promotes economic growth. Apart from that, in
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part (c) the candidate was able to elaborate objectives of foreign
exchange control system, such as: correction of Balance of payments,
protection of domestic industries, facilitates foreign investment and
protection of domestic currencies in terms of foreign currencies.
Extract 12.2 shows a sample of a good response.
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Extract 12.2 is a sample of a good response.

In this Extract a candidate who was able to explain the meaning of
Exchange control and Foreign exchange reserve in part (a) (i) and (ii),
respectively. Furthermore, the candidate was able to explain briefly the
main significance of foreign exchange reserves in part (b) and also managed
to elaborate objectives of the foreign exchange control system in part (c).

Question 5: Economic Planning
This question had parts (a) and (b). In part (a) (i), the candidates were
required to distinguish consumer planning from producer planning
and in (ii), partial planning from comprehensive planning. In part (b),
the candidates were required to explain eight importance of planning
in bringing proper allocation of resources in the economy.
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The question was attempted by (6,751) 59.3 percent of the candidates,
out of which (2,582) 32.4 percent scored from 12 to 19.5 marks,
(3,488) 51.6 percent scored from 7 to 11.5 marks and (898) 16.0
percent scored from 0 to 6.5 out of the 20 allotted marks. Generally,
the performance of candidates in this question was good as 84.0
percent scored 7 marks and above. Figure 13 shows the distribution of
the candidates’ scores.
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Figure 3: Candidates’ Performance in Question 5.

The majority of the candidates performed well in this question which
implies that they had acquired sufficient knowledge on this particular
topic. In part (a) (i), one of the candidates was able to distinguish
consumer planning from producer planning as: Consumer planning is
a planning in which a consumer plans on how to fulfil the availability
of enough basic needs like food, shelter and clothes by considering
his/her own income while producer planning is a planning in which a
producer considers on how to produce, what to produce and for
whom to produce in order to fulfil the gap between the producer and
the consumer. In (ii), partial planning from comprehensive planning
as: Partial planning is a type of planning in which the government
covers one sector and achieve more strategies such as industrial
sector while in Comprehensive planning the Government covers all
sectors and achieve more in all social, political and economic sectors
of the economy, which were correct. Furthermore in part (b), the
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candidate managed to explain the importance of planning in bringing
proper allocation of resources in the economy as: it stimulates
economic stability, bring equitable distribution of wealth, encourage
capital formation, enable favourable terms of trade, stimulate the
high rate of employment and reduce stiff competition. A sample of a
good response is shown in Extract 13.1.
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Extract 13.1 is a sample of a good response.

The Extract shows a candidate who was able to distinguish (i)
Consumer planning from Producer planning and (ii) Partial planning
Comprehensive planning in part (a). In part (b), a candidate
managed to explain the importance of planning in bringing proper

from

allocation of resources in the economy.
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Furthermore, the candidates who performed moderately managed to
distinguish concepts in part (a) (i) but were unable to distinguish the
concepts in part (ii). In part (b), among the eight required points, they
managed only few points and were unable to support them with the
required explanations. This may be due to inadequate knowledge
related to the topic concerned.

The candidates with poor performance failed to meet the requirements
of the question. In part (a), majority of the candidates failed to
distinguish the given economic concepts while others provided partial
responses. In part (b), the candidates were unable to give the
importance of planning in bringing proper allocation of economic
resources. For example, one of the candidates provided the wrong
responses such as: it helps in the systematic coordination, helps or
makes easy to identify the period of the plan, helps to know the
intended objectives and goals, helps in regulation and control and it
help in evaluation. This indicates that the candidates had insufficient
knowledge in the subject matter. Extract 13.2 shows a sample of such
pOOr responses.

A {omtuwy Peomoy e s A arade b W
¢ g MWt ek c\\m\}w and uinhhy g Widaihe
ek V;\\A\M\ra \«ﬂ [ x-\WJMdJ\.\Ll—v [t \0:,.: t_\vlw\—.’l- \-x;.w.@-\
h vy Gy )1 W\H\r-\d\ ﬂ\w\nu- m\ \C\«\nduu \,..'\A.\L
)?“\g ‘\\v W \(t“\‘(\h‘“\)\.’. K Sue,wo LJ\A} \a»'l&\m Vbl \-\\'\4.;‘{
‘H\)U\)&\" \\rs [CVRTVVINYS \z\av\mvg \‘N\'mmv'mc\ \O\MW W\“\
\?\rqclmw \?\t\\nv!\\ﬂﬁ e (a\w\s oW G mu\, Y4
v Ol N Wi \?W}l‘r ‘w W LW e
x&“ e e\ o4 R Wedtion gy = pu W«“
R\\EW\W‘M“-‘TLH W v b Wivee gy gepd vl

’\\m \‘l\fm\»\-\h. W A feme \‘MML\* “ &‘Ml P e 1&»«\

wovdew Yo W WAJ\ Wit Wani M\'\'

W[\\ '\)\mh A Q\c.mwo\ Gy }(\,,.\ Q\Ww‘i\,.H Wi € vk, QIVPV b
w W (i e \WPAWAL o fywgviai € JF\}W e \ow

R womin | peanenmt S g o A T AL ddnd
Gedgy b Vv weoa Satur X\ Aevev et dvped w
Reivganl (\aw\.\ov"\'u\ W\"\‘f i L“W‘Q‘"\“‘N“"‘ \?'\"‘"\V\-(
0o s Mat Gunvand by M quuweeg 9 tevkel
mvkyu? W Bty w,{ ('\bh\lw\‘( ¥ o, \q\F \W\?VM"\\

93



Qp\\\,\\ et vt wﬂ\,\;, \ﬁv\v (amty W\‘P\m \\“‘h %\f\\v\\'ﬂhv!

T\,-\Aw\m'\‘)l ’\\n,mx\'}-l\f‘)' ond (M\J\‘n.‘f‘-\}’l‘“\, M\v\r-\e] A\

Cuanns \1\N

5- )

ﬂann(‘na ls_tho PIoE( n‘nl‘fm clncﬁrfan
b order b aach” By orfacm !ﬂ'ionclpcj am’ or
Glomo,hfo: The tolloudng aro tho rm.oorfanca o+
ﬁ’anoﬂm 10 I)r)“mf‘m Dro“{Jeﬂ afgca}'zm oho.roumwm
”u; Pamamff- -

T4 Lm!px In fJen#qu Aﬁ#@renf otony
mfe nmUer.' #srnuai-r e uee toJ— D,anni‘m machanon
honw U oaables ¥ Poper allocaton JrQJDLchD.I bo

QC@nomu
Ilt \ne\or i _tho S\I_f}oﬂ'ﬂ}gc— C@ﬂ:lmq
Lﬂm pﬁt’aug‘r\ P\qnnE‘ﬂq o‘.{‘HDﬂeﬂ{ 49&0:’! e 1nuplve
A ta) urc\u&io 6»4)( \‘ne 'Dcm a.m; t"lQﬂGt &
enablac thg praper al\aml-bnﬁi— fodpura -
Hnipr er_akor Qa.w b iimk% &
DOrf”aJ of ”)Q D!an i onablo » lrp bnow hew 13;
L"@ tho P’an ofl] Jub b odor 4 allacto Bo

rodeurc S
HQ}DI Jb 'Cnou.) mﬁznc!ocj 91: QCL
Vo ch qeal: | ”)rnw:"x anf‘m Y ir Qy‘ﬁ'y’ !Jb [
OLIQC#UOI and qa;j o the b acad P’am and
l’lenm BQ’D .Dmﬁry a GM.J‘)(Jr) rafoura
pr fclan bpy Hho farae/‘ cmL
tho D’an, %mt&ak Délmfna Lé .!"}J auy !u knau.)
w{,@} i #m éafqd CJ#J an anc/ Ld cLH;
b _work on d.
Hﬁfpf Te) @cMon aﬂa/ Camlm/ M
D/annmq /mfﬂu f ke rg /am: that  must be
fv//owbjc/ Agrosramplo Dm?‘o«:#tm n::/cfw %) ofc[ar/u
/.70 able v{v mnko Q!J‘ﬁ/'r ta a}/om,}zcn o} QR
}"}’ wam n Qva.dua}fon ! / annmq
U o aleg (m’aor*ar{ @ Qvadua}ﬁon honeo  LF

Extract 13.2 is a sample of a poor response.

The Extract shows that a candidate who failed to distinguish the
given economic terms in part (a). In part (b), he or she failed to
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explain the importance of planning in bringing proper allocation of
resources in the economy.

2.2.6 Question 6: Marketing and Distribution
The question had parts (a) and (b). In part (a), the candidates were
required to account for the six major problems facing cooperative
societies in developing countries like Tanzania. In part (b), the
candidates were required to outline the four main principles of
cooperative societies.

The question was attempted by (7,055) 62.0 percent of the candidates,
out of which (1,980) 28.1 percent scored from 12 to 20 marks, (2,914)
41.3 percent scored from 7 to 11.5 marks and (2,161) 30.6 percent
scored from O to 6.5 out of the 20 allotted marks. Generally, the
performance of candidates in this question was good, as 69.4 percent
scored 7 marks and above. Figure 14 shows the distribution of the
candidates’ scores.
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Figure 14: Candidates’ Performance in Question 6.

The candidates with high scores in this question were capable to meet
the requirements of the question. For example in part (a), a candidate
managed to account for the problems facing cooperative societies,
such as: weak supportive infrastructure, stiff competition, low level of
education and training, shortage of funds etc. . In part (b), the
candidates managed to outline the four main principles of cooperative
societies, such as: Open and voluntary membership, Democracy,
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Education and training as well as cooperation with others. Extract
14.1 shows a good response from one of the candidates.
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In this Extract a candidate who was able in part (a) to account for
the major problems facing Cooperatives societies in developing
countries like Tanzania. In part (b), he or she managed to outline the
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Extract 14.1 is a sample of good response.

main principles of cooperative societies in Tanzania.
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The candidates who performed moderately provided insufficient
explanations on both parts of the question. Others managed to
perform well in one part, either part (a) or part (b). In part (a) for
example, out of the six required points, a candidate managed to
provide only five points like lack of skilled man power, lack of funds,
poverty among the members, lack of facilities like in transportation
and unpaid debts. Others provided points without explanations. In
part (b), most of the candidates imprecisely outlined principles of
Cooperative Societies. For example, one of the candidates failed to
outline the main principles of Cooperative Societies and instead he or
she gave points, such as: provides inputs to the farmers, make
research in agricultural products and provide services to the farmers
which were incorrect.

Furthermore, very few candidates with poor performance failed to
meet the demand of the question. In part (a) for example, a candidate
provided wrong response on the major problems facing cooperative
societies, such as: difference in currencies, difference in language
use, political instability and difference in gains. In part (b), few
candidates failed to outline the four main principles of cooperative
societies. For example, one of the candidates outlined the four main
principles of cooperative societies as: free trade, customer duties,
economic duties and monetary factor facilities which were wrong.
This shows that the candidates had inadequate knowledge on forms of
regional economic units. Extract 14.2 shows a poor response of a
candidate.
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Extract 14.2 is a sample of a poor response.

The Extract shows a candidate who was unable to account for the
major problems facing Cooperative societies in developing countries
like Tanzania in part (a). He or she also failed to outline the main
principles of Cooperatives societies in part (b).

Question 7: Structure of Tanzanian Economy

This question had parts (a) and (b). In part (a), the candidates were
required to state four roles of industrial sector in the growth of the
agricultural sector. In part (b), the candidates were given quoted
statement that, “Industrial sector is the key for economic
development of many developed countries”. They candidates were
required to provide six points on why this sector is not successful in
Tanzania.

The question was attempted by (10,402) 91.4 percent of the
candidates, out of which (6,335) 60.9 percent scored from 12 to 20
marks, (3,829) 36.8 percent scored from 7 to 11.5 marks and (240)
2.3 percent scored from O to 6.5 out of the 20 allotted marks.
Generally, the performance of candidates in this question was good,
as 97.7 percent scored 7 marks and above. Figure 15 shows the
distribution of the candidates’ scores.
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Figure 15: Candidates’ Performance in Question 7.

The candidates with high marks managed to state the roles of
industrial sector in the growth of agricultural sector in part (a). For
example, one of the candidates provided four roles of the industrial
sector in the growth of the agricultural sector as: supply inputs to
agricultural sector, act as a market for agricultural products,
stabilize prices for agricultural products and adds values for
agricultural products. In part (b), some of the candidates managed to
provide six reasons for why the industrial sector is not successful in
Tanzania. For example, one of the candidates explained reasons, such
as: inadequate capital, poor management, poor technology, poor
infrastructure, weak internal and external market and lack of skilled
personnel. This indicates that the candidates had enough knowledge
on the concerned topic. Extract 15.1 shows a sample of a good
response.
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In this Extract a candidate who was able to state roles of the industrial
sector in the growth of agricultural sector in part (a). In part (b) he or
she explained the contention that “Industrial sector is the key for

Extract 15.1 is a sample of a well answered question.

economic development of many developed countries”.

The candidates with average scores in this question were able to
explain partially one part of the question (or part (a)) by stating only
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three out of four points required. They failed completely to attempt
part (b). This could be due to failure to integrate the knowledge of
agricultural sector with industrial sector.

Moreover, very few candidates who scored poorly were able to state
few roles out of four required on the industrial sector in the growth of
the agricultural sector in part (a). In part (b), the candidates failed to
give reasons on why the industrial sector is not successful in
Tanzania. For example, one of the candidates gave wrong responses,
such as: employment, development of infrastructure, development of
science and technology, facilitate development of trade, enable
growth of investment and enable market for agricultural products.
Extract 15.2 shows a sample of a poor response from a candidate.
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Extract 15.2 is a sample of a poor response.

In this Extract a candidate who failed to give reasons for why
industrial sector is not successful in Tanzania in part (b).
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2.2.8

Question 8: Economic Growth and Development

The question had parts (a) and (b). In part (a), the candidates were
required to describe six determinants of economic growth. In part (b)
(i), they were required to distinguish technological dependence from
trade dependency, and (ii) Political dependence from financial
dependency.

The question was attempted by (8,228) 72.3 percent of the
candidates, out of which (2,462) 45.2 percent scored from 12 to 19.5
marks, (3,191) 40.0 percent scored from 7 to 11.5 marks and (1,221)
14.8 percent scored from 0 to 6.5 out of the 20 allotted marks.
Generally, the performance of candidates in this question was good
as 85.2 percent scored 7 marks and above. Figure 16 shows the
distribution of the candidates’ scores.

Scores
m0-6.5

d7-11.5
m12-20

Figure 16: Candidates’ Performance in Question 8.

The candidates who scored high marks managed to describe
determinants of economic growth in part (a). For instance, a
candidate described determinants of economic growth, such as: level
of technology that exist in the economy, size and nature of the labour
force, stock of capital goods that exist in the economy, availability
and exploitation of natural resources and the size of market and
population available. In part (b) (i), the candidate managed to
distinguish technological dependence from trade dependency as:
Technological dependency refers to one country depend on technical
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assistance and experts from another country in order to carry out its
different economic projects while trade dependence refers to the
situation whereby a country depends on international trade to
promote its different economic activities, and in (ii) Political
dependency from financial dependence as: Political dependence
refers to the situation in which a country depends on another country
in terms of making political decision which determines her political
affairs while financial dependence refers to a situation whereby a
country depends on foreign aid in terms of foreign currency in order
to fund her various economic activities to supplement their budgets.
The candidate indicated good mastering and competence of the
subject matter in Economic growth and Development. Extract 16.1
shows a sample of a good response from one of the candidates.
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Extract 16.1 is a sample of a good response.

The Extract shows a candidate who managed to describe determinants of
economic growth in part (a). A candidate also managed to briefly
distinguish (i) Technological dependency from Trade dependency and (ii)

Political dependency from Financial dependency in part (b).

The candidates who had average scores in this question gave
insufficient points in part (a). Some of the candidates were able to
describe fewer determinants of economic growth whereby out of six
required points, only two points were correct. Others failed to give
clear details to support the points. In part (b), some of the candidates
managed to distinguish economic concepts in part (i) and were unable
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to give a clear distinction on economic concepts in part (ii). This
shows that the candidates had insufficient knowledge in that
particular topic.

The candidates who performed poorly failed to describe determinants
of economic growth in part (a). This indicates that they had
insufficient knowledge on the subject matter of the topic. For
instance, in part (a), one of the candidates gave only one correct point
of Technological status whereby the points like per capita income,
national income, money value and poverty rate were not correct.

In part (b), they failed to distinguish the given economic concepts
between, (i) Technological dependence from trade dependence as:
Technological dependence is the tendency of depending
technologically to the production process while trade dependence is
the one which depends trade in the creation or generation of income;
and (ii) Political dependence from financial dependence as: Political
dependence is the one in which the government rely on either
externally or internally while Financial dependence is the one in
which it involves its financial means as the major or conducting other
productive activities. This indicates that the candidate had inadequate
competence in the topic of Economic growth and Development.
Extract 16.2 shows a sample of such poor responses.
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Extract 16.2 is a sample of a poor response.

In this Extract a candidate who failed to describe determinants of
economic growth in part (a). In part (b), the candidate failed to
distinguish: (i) Technological dependence from Trade dependence (ii)
Political dependence from Financial dependence.
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3.0 ANALYSIS OF CANDIDATES’ PERFORMANCE PER TOPIC

The topicwise analysis of 2019 ACSEE in Economics subject shows that the
performance of the candidates was good, since the candidates had good
performance in 13 out of 16 topics examined. The performance of the
candidates in the topics tested is summarized in Appendix A, where green
colour indicates topics with good performance, yellow colour indicates topics
with average performance and red colour indicates topics with weak
performance.

The topics with good performance include: Structure of Tanzanian Economy
(97.7%), Population (95.0%), Public Finance (91.5%), Economic growth and
Development (85.2%), Economic Planning (84.0%), Production (82.2%),
National Income (80.9%), Financial Institution (79.8%), Employment and
Unemployment (79.7%), Subject Matter of Economics (74.0%), Marketing
and Distribution (69.4%), Theories of Demand and Supply (65.5%) and
Theory of the Firm (64.1%). The good performance in these topics could be
attributed to the fact that, the candidates were able to follow the required
instructions; they were able to identify the tasks of the questions; and they had
sufficient knowledge on the topics examined.

The averagely performed topic was Market (40.9%). The average performance
was a result of misconception of some concepts, partial knowledge on the
concepts related to the questions and inadequate explanations of some points.
However, the performance in the topics of International Trade and Theory of
Money was weak with an average of (27.7%) and (5.0%), respectively. The
poor performance in these topics was caused by misinterpretation of the
questions; misunderstanding the tasks and some concepts in those questions;
inadequate knowledge of the topics, especially on the part of arithmetic skills,
and attitude of students towards those topics.

A comparison of candidates’ performance per topic for ACSEE 2018 and
2019 shows that in 2019 examination there has been a noticeable
improvement in candidates’ performance on the topics of Population and
Theory of the Firm compared with 2018 examination. Moreover, compared to
2018, on average, the candidates still performed poorly in the topics of the
International Trade and Theory of Money in 2019 Economics Examination.
The poor performance in these topics was caused by misinterpretations of
questions, misunderstanding of some concepts in the questions and inadequate
knowledge on the sub-topics tested, especially those involving mathematical
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derivations. The comparison of the candidates’ performance in each topic for
ACSEE 2018 and 2019 is shown in Appendix B.

4.0 CONCLUSION AND RECOMMENDATIONS

4.1

4.2

Conclusion

The general performance of the candidates in Economics subject for the
2019 Advanced Certificate of Secondary Education (ACSEE) was good.
The candidates had good performance in 13 out of 16 topics examined in
paper 1 and 2. The candidates performed well in this examination because
they were able to identify the demand of the questions, followed the
required instructions and they had a sufficient knowledge on the subject
matter. Furthermore, other candidates did not perform well because of
wrong interpretations of the requirements of the questions and inadequate
knowledge on arithmetic and drawing skills.

Recommendations

In order to improve the performance of prospective candidates in this
subject, it is recommended that:

(@) Students should be encouraged to do many exercises to get experience
in applying various formulae or concepts in answering questions.
They should also be advised to revise all the topics to make sure that
they understand the concepts thoroughly well.

(b) Subject teachers should strive to equip themselves with learner
centred teaching and learning methods. They should also equip
themselves with knowledge on current economic issues and apply
them in teaching and learning of Economics. This will build interest
or motivate students in the learning process.

(c) Subject teachers should ensure that questioning and discussion elicit
students’ thinking and solution strategies should build on them,
leading to great clarity and precision.

(d) School administrators should team up with subject teachers to
facilitate study tours to the central and commercial banks. They
should invite guest speakers as part of teaching and learning activities
in order to broaden the students’ understanding. This will enable
students to acquire knowledge and skills in different areas of the
subject.
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(e) Economics Syllabus should be covered on time by subject teachers in
order to make students to acquire enough knowledge for all topics.

(f) School administrators should ensure the availability and proper use of
internet facilities or online materials which facilitate study as an
alternative source of teaching and learning activities. This will
broaden the students’ understanding which will enable them to
acquire knowledge and skills in different areas of the subject.

Appendix A
Analysis of Candidate’s Performance in each topic

S/n Topics No.of | % of candidates Remarks
questi | who scored the
ons average of 35 or
above
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Appendix B
Comparison Summary of Candidates’ Performance per topic for ACSEE

2018 and 2019
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